One litre is 1000ml
500ml is half a litre

250ml is a quarter
of a litre

(10 x 100 = 1000)

Use division to find
the cost of one litre

the cost of one litre

(15 x 100 = 1500)

(3x 500 = 1500)

One litre is 1000ml
500ml is half a litre

Use division to find
the cost of one litre

250ml is a quarter
of a litre

(4 x 500 = 2000)

One litre is 1000ml
250ml is a quarter
of a litre

Use division to find
the cost of one litre

(3x 500 = 1500) Use division to find (10 x 150 = 1500) 500mLis half a litre

500ml is half a litre

(5 x 500 = 2500)




